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QUESTION 1

What is the purpose of securing sensitive business data? (Choose three.)
A. Reduction of training costs

B. Disruption of software deployment

C. Protection of intellectual property

D. Protection of image

E. Correctness of data

Correct Answer: BCD

QUESTION 2

You are configuring authorizations to secure access to table data using transaction SM31 and you encounter
authorization object S_TABU_DIS and field DICBERCLS. How can this field be used to secure access?

A. It allows you to specify access to a specific client-independent table.

B. It allows you to specify access to tables referenced by a specific program group.

C. It allows you to specify access to tables associated with a specific authorization group.
D. It allows you to specify access to a specific client-dependent table.

Correct Answer: C

QUESTION 3

Which of the following SUIM reports can you use to determine if a user has a segregation of duty violation? (Choose
two.)

A. User Comparison

B. User Level Access Risk Analysis
C. Users by Complex Search

D. Users With Critical Authorizations

Correct Answer: CD

QUESTION 4

Which of the following objects allows you to restrict which users can distribute a role to another system using an RFC
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destination?

A.S_USER_AGR
B.S_USER_SYS
C.S_USER_STA
D.S_USER_AUT

Correct Answer: B

QUESTION 5

Which of the following tables contain transport request object lists and table entry keys? (Choose two.)
A. EO71K

B. EO70

C. EO70L

D. EO71

Correct Answer: AD
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